CHAPTER 9 / THE SAT MATH: ADVANCED MATHEMATICS

3
If % ——=2, what is the value of x2 — 10x?
X

‘

For how many positive integer values of &k

is L >0.001?
10k

If g(x) = x> — 9x + 18 and h(x)= gz(j_)g, what is the

value of 1(9)? ¥

L +L =9, what is the value of ?x
x+1 x-1 x" =1

?

405

L _C+1: 10 , what is the value of ¢2?

c—-1 2c -1
4x° +1

If ——-+—=2x—1+ . for all values of x, what
2x+1 2x+1

is the value of a?

2
Which of the following is equivalent to 10 for all
positive values of b? b 2
b’ -1
2—b

A)

b -1
2b

B)

-2
2b

0

2-b°
2b

D)



